
IMPORTANT CUSTOMER INFORMATION  
Pressure preservative treatment is designed to prevent rot and insect attack for up to 15 years and to give softwood 
timber products an extended and low maintenance service life. The treatment is not intended to perform as a 
waterproofing agent. The dry, external timbers can have a water ingress protection added with the application of an 
appropriate and well maintained water repellent coating. This would involve a proprietary water repellent coating 
product which could be applied to the dry external timbers following the relevant manufacturer’s guidelines. 
Recommended products include Thompson’s WaterSeal, Hickson Decor Wax Coat and RESTOL Wood Oil. 
 
To minimise twisting and warping all Hutton garden products should only be used on firm level ground.  
Softwood is a natural material which can twist and split during periods of wet/dry, hot/cold weather. If cracks do 
appear it is a natural occurrence and not a fault with the product or material. The best way to treat this is to use a 
cloth and rub a little PVA wood glue into the crack and once dry sand the area lightly.  
  
 

 

Assembly Instructions   

                          AH-RHWR – Rabbit Hutch with Run 

 

 

 

 

 

 

Attach both end sections of the hutch to the front section using 4x 60mm 

screws.  

Repeat for the back section using 4x 60mm screws. 

Drop the base into position and place the divider where required and 

secure with 4x 40mm screws. 

To assemble the run section. Fix the long rear sections to the inside of the 

two shorter panels and screw using 4x 60mm screws. 

Fix the front section (with doors) on the opposite side using 4x 60mm 

screws (making sure the doors open outwards). 

Screw down the hutch onto the assembled run using 8x 60mm screws. 

Place the bottom run support into position and screw 2x 90mm screws 

through side panels. (Making sure you can 

fix the ladder at both ends). 

Screw the ladder in place using 4x 40mm 

screws. 

Finally place the roof on top 

 

  

 

List of parts in fixings pack--- 

                                          ---------      

 
24 x 60mm Screws 
  8 x 40mm Screws 
  2 x 90mm Screws 

 
  
   

6 x 60mm Screws 
  2 x 20mm Screws 

 

 

 
 



 

Hutton Garden and Landscaping Products 

Church Lane, Northwood Green, Westbury-on-Severn, Gloucestershire GL14 1ND www.svw2000.co.uk/hutton 

Tel: 01452 762089                Fax: 01452 760993            office@hutton-ltd.co.uk 

http://www.svw2000.co.uk/hutton

